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1) Write the expression for the equilibrium constant, Kc, for the following reaction. 

2 NO (g) + O2 (g)  ↔  2 NO2 (g) 

(A) Kc = [NO]
2
 [O2] / [NO2]

2
 

(B) Kc = [NO2]
2
 / [NO]

2
 [O2] 

(C) Kc = 2 [NO] [O2] / 2 [NO2] 

(D) Kc = 2 [NO2] / 2 [NO] [O2] 

(E) Kc = [NO] + [O2] / [NO2] 

2) Write the expression for the equilibrium constant, Kp, for the following reaction. 

2 NO2 (g)  ↔  N2O4 (g) 

(A) Kp = PN2O4 / PNO2 

(B) Kp = PNO2 / PN2O4 

(C) Kp = PN2O4 / PNO2
2
 

(D) Kp = PNO2
2
 / PN2O4 

(E) Kp = PNO2
2
 + PN2O4 

3) Determine the expression for the equilibrium constant, Ka, for a weak acid like HC2H3O2. 

(A) Ka = [C2H3O2
-
] [H3O

+
] / [HC2H3O2] [H2O] 

(B) Ka = [C2H3O2
-
] [H3O

+
] / [HC2H3O2] 

(C) Ka = [HC2H3O2] [H2O] / [C2H3O2
-
] [H3O

+
] 

(D) Ka = [HC2H3O2] / [C2H3O2
-
] [H3O

+
] 

(E) Ka = [HC2H3O2]  

4) Determine the expression for the equilibrium constant, Ksp, for the following reaction. 

Fe(OH)2
 
(s) ↔ Fe

2+
 (aq) +2  OH

-
 (aq) 

(A) Ksp = [Fe
2+

] [OH
-
]

2
 / [Fe(OH)2] 

(B) Ksp = [Fe] [OH] 

(C) Ksp = [Fe][OH]
2
 

(D) Ksp = 1 / [Fe
2+

] [OH
-
]
2
  

(E) Ksp = [Fe
2+

] [OH
-
]

2
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5) Determine which chemical reaction matches the equilibrium expression below. 

Ksp = [Ca
2+

]
3
 [PO4

3-
]
2
 

(A) Ca
2+

(aq) + PO4
3-

 (aq) ↔ CaPO4 (s) 

(B) Ca3(PO4)2 (s) ↔ 3 Ca
2+

(aq) + 2 PO4
3-

 (aq) 

(C) Ca
 
(s) + PO4

3-
 (aq) ↔ Ca3PO4 (s) 

(D) 3 Ca
2+

(aq) + 2 PO4
3-

 (aq) ↔ Ca3(PO4)2 (s) 

(E) Ca (s) + PO4 (s) ↔ CaPO4(s) 
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